. . > 4% . e 34840 ~ 34940 > - 5k
E: RN 5 SR = & g

%;ﬁfﬁﬂ,& 2’]% }:L.‘%’fu
DI PE R (—)“‘ I %",—"*?Eﬁ
P SRE 0 (T E PR ATAEELE FRRROTA R AR L o AR TR > A AL o
(_J‘f 3B RAETR AP B PRl Sl AN R AN Grp (T AR S o
“*?Tﬂﬁﬁi(ﬁlﬁs ’£%A>
OF IRV H e 2 0800 7k 5 18% & Gy s 270 Fpt d Rz A e
B A %’l%ﬁ B H ,:a‘_ﬁ%* kN/ ‘?
ORI ES ’f@ DY ¥ - RE F’J? H, ﬂ % 5 182 kN/m ?’kfé ® % 7%
W& GS = 2.66 > ‘“‘;é%%,.b/?]’ X IVHY R 06320 Bt 5 0.476 0 3

RPEES2ZHEHBRZEFFT%? iy —iJ g 2 R 5 o

(—-)—'t‘ }?/.:.1 ‘)f%’: d 1;[_}___/{«:/47\ I ﬁ_}\l‘* D10—0.15M’D30—O4M’D50:O6SM’
Dy =0.8 mm > Dgs=1.5 mm » F P iEH 2 Tk @ - 303 hlk C, % & & 4k C,

EAF PN IHRAT eI E?

)& ﬂ%}i? Kb il i;%’ R ol g 40%’ HP o 3R Rl 3t 2 um 03 1% o
yg MR LL % 38 grime PL % 18 Eir 4 Wi— JEAH;2 > H Aok
BERL PO F I kRS 14% 0 ARt 2z R L SRm H e
M (activity ) 4ri@ ?

(ﬁ)& 3R et 32 R R FRBARS K 0 F o TR R R
IR L E G=2.70> 3 M =070 * E-KERE ¢, & 24 kPa > FiHH
ii,%\E’»ﬁ?;?)ié%’i m ?

S A Bl - o —?—ﬁﬁﬁ*ﬁﬁm L%~ 14 m 2Tk ’?"r/?/*l K lﬁ»pﬁéﬁﬁﬁﬁﬁﬁ ISmZ® 7m
PN RY QR R D R 2 g de ok Tl kV=10 cm/sec » kT %ok R
kH—4><10 cm/sec ° 43%\4%6'%@5' A Ysat; 19.81 kKN/m® » (501255 & % -k B >
R AR Bl (S % Bz g e oK "‘ﬁit~ i edo Bl - T o B P ER R
H,=5 m’ ~ #-k wrs Hy=1 m> O * “7g F 2 i3t 5 %0 & (rate of
seepage) R m/day/m’?(_)lla}»&u SRR R RN G AR E "%F-Fi,r’b >

vEL:ABLZ B BEEZ Y OREE \@4 Lw ~ B ARRERZ B ORIKER & ;?4 m? G

Rdr 2 kA B2 H Pt 2 % %:M:JP 9(@4}%»,}\,”_1?:55%,1
el

]

+*t S

eﬁ.

"

B wAFE o @B 2 H: vmw b5 5T 2% B R R A R
(H:V=1:1) i& > B® 7§72 ﬁhﬁpeﬂ%ugﬂﬁfezi%? (i’*'l‘%S/w\ » R 254

A4 & 1
= &

35m

_4
——}—O.Sm

3.2m
L ¥

ky=4x1 0% cm/sec
ky, = 10" cm/sec




. o o 44 oo - 34840 ~ 34940 » - 5k
£ O FRA s e OB

oA BHEIR I

o P 2SR (fHAHIA)

= TR OR R A £k (SCU) @ (ﬁ"%SA\ £ 25 )

O afoB R 2kE%R 7 Gl Bl e w ) W PEE v 2 KR 4 (back
pressure) 2. p i @ ?

ORAsNERFAPLA SCU RS2t ¥ RBRBAT 2GR DAT 280L B4 -
3"%‘4\@" Vg 2 BTk

SENNE AR SRR L FERERAT £V 8 S A S 1 IEN R S

@7 * & ¥ RBALZFHE R FR 0;=100 kPa & & {o/R %7 #KE% > F%
B phE R4 (Aocg)r & 75 kPa» 3V KB 4 (Aug)r 5 56 kPa o 3E3- 8 oL 245
2B PKBHLBA PN B E G PN BEEREYELET?

@B - R G 2 M % U KRS %‘L\%Afr F 7

> o~ AeBl o T 0 iRt g ﬁf}@m’}q@i @] v o7 e a-i%z;' (+’ 16 frx) » (K M AR é]
Z W E Ge3a s 2700 Hts 3 S fcheB - ikt 0 HHAZ F L R 5 35 cmx35 cm
200 AR /o FE’FﬁEp l m>OFid* % >GEcs 3 BEERRE Y o2 > 33
Fept FzZ LF L KA FEF KN? OBEZ M RFE T HREKE 2000 kKN 2 4%+
FFE Qo A2 Tk F 4 £12:1 (VIH) A6 8% T @ik 335 0 #i
2 BBAKAE 2 7+ mm? (Bl= ¢ 2 ¢, a4k B2 2 PRRR e 2 ab2 K23
LG, B AR AL REEAE) GEE- 2R NEEPETT) o (54T 125 4
£ 25 45)

3.35m,

Cu= 60 kPa
Im €,=0.8 C.=0.38

c,=60 kPa
e,=1.0 C.=0.32

; Jua ol vt it Cyde b VTt O -, 1 g
el ) Ak Tt o "y i iy

" - L M I L .

S ; 7 I RS = arprlon —
L) L WO Lt e . : g e R

T LA ) ; P T = PR el Rt L U el —
':'-'.5, ’-.‘--.{'1{":-‘.\}#- v Penf ST e, A T Lﬁ."'-"'.‘.:‘. s gty P

7|=01 02 03 04 06 08 10 12 14 16 18 20 24
a | 1.00 092 0.82 0.74 0.62 0.54 048 0.42 0.40 0.38 0.36 0.35 0.34




